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& Choisis la bonne conversion :

& Choisis la bonne conversion :

5 kg 600 g

1kgs50g

2t549 kg

5600 g 5060 g 5006 g

1500 g 1050 g 1005 g

Choisis la bonne conversion :
i

2549 kg 2049 kg 2509 kg

& Choisis la bonne conversion::

3kgdg

5t10 kg

<

7kg225 g

3800 ¢ 3080¢ 3008 g

5100 kg 5010 kg 5001 kg

7225 ¢ 7025 ¢ 7250 g

& . Choisis la bonne conversion :

2kg110§g

& Choisis la bonne conversion :

6kg92g

%  Choisis la bonne conversion :

s
Y

2kg7g

2110 g 2010 g 1102 g

lllustrations http://boutdegomme.fr/

6920 ¢ 6092 g 6902 g

2700 g 20708 2007 8
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Choisis la bonne conversion :

& & . Choisis la bonne conversion : 5 Choisis la bonne conversion :
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1947 & 6039 g 7634 kg

1kgo47g | 19kg478 | 194kg7¢g 6kg39g | 60okg39g | 603kgog 74kg36g | 7kg634g | 7t634kg

Choisis la bonne conversion : Choisis la bonne conversion:

©
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&

5003 g 2500 kg 5100 kg

5t300kg 5 kg 3 kg 5kg3g 25t 2t5kg 2t500kg 5t 100 kg 5kg100§g 5t1kg

& Choisis la bonne conversion : _ Choisis la bonne conversion : 5 Choisis la bonne conversion :

Q
£
0,

&

1§ ‘Cng

7050 kg | 2212 g 2002 g

7t50kg 7kgsog 70 t 50 kg 2t212kg 2kg200g | 2kg212g 22 kg 2t2kg 2kg2g

lllustrations http://boutdegomme.fr/
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